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BUSINESS STUDIES
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Time : 2% Hours
Cool off time : 15 Minutes

ﬁeneral Instructions to Candidates :
@ There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time".

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is alsc provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in the
‘Examination Hall. :
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Name the warehouse which 1s
used to keep imported goods till

the customs duty is paid.
a) Govermﬁent warehouse
b) Public warehouse

¢) Bonded warehouse

d) Private warehouse

Which document is issued by a
public company for inviting the
public for subscribing its shares?
a) Prospectus

b) Table A

¢) Memorandum of Association

d) Articles of Association

VSAT stands for ..........

a) Very Small Aperture
Telephone

b) Very Smalll Aperture
“ Terminal

¢) Very Small Aperture
Transaction

d) Very Small Aperture Trade
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b) Very Small Aperture
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¢) Very Small Aperture
Transaction

d) Very Small Aperture Trade
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.4/. Which among the following is 4. ®oevojo@imM®@d a@®o6m’
NOT a characteristic of snfldlmqilon malleraumwgommae?
business? a) aqOWMEma)o BMVQIMEMBR Y0
a) Dealing with goods and EOBEOV)0 21QYITN].
services b) eioeo mmiocleadd
b) Profit motive ) - MOMIETEB®D (@ IUBEDMo
c) Noneconomic activity d) mavis (TUO(D‘}(ED (1)
d) Uncertainty of return (1)
éj Name the type of partners in the 5. moey (i @os06l o 1@lee0m
following cases. IO BEIONS BAIOOLIBH.
29 A partner whose presence a) ©UBIEMIMBBHS DD al®d:0g]
with the firm is unknown to wes enllmilmngdlenss mvomilwyo
the general public. @O2EMHODIA.
. Y enflay]
Q/A partner who does not take b) elmlogied eeame  alm
any part in the management msaiofied CHOBIYLO0O atmogl  (2)
of the firm. (2)
M Explain any three objectives of 6.  efloqle® egemssiee oy
business. (3) LoD QNlBROBE . 3)
‘V Match column A with columris B 7.  e®og0 A, emogo B wio esogo C
and C. (3) @20wfl ol llee. (3)
A B C
Funding from . Statutory corporations Foreign collaboration
the government '
Special Act Multinational corporations lEmployees are government
Y servants
Centralized control L Departmental undertakings [\ Autonomous organization
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3./ State any three responsibilities
of business towards the

consumers.

Mr. Arjun has decided to start a

C®

business. But he is not aware of
the basic factors to be considered
and analyzed before starting a
business. Help him by explaining

any three such factors.

LJ. "Fulfilling social responsibilities
1s very important for every

business for its survival".

Support the above statement by

describing any three reasons.

‘}/X/State the procedures for getting
export license.
(Hint : Minimum three

procedures)

1}./ Explain any two modes of entry

into international business.
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R3¢ These types of retailers have no

1y

fixed place for business. They
frequently move from one place
to ancther. Explain the types of

such retailers.

ABC Ltd., is a public company in
which 45% of paid up capital is
held by the Government of India

and 14% by the Kerala

Government.

a)y In which category of public
sector will ABC Ltd., be
included?

b’j State any three features of

this category.

Certain portion of the profit of
the companies is kept for future
purpose, without distributing as
dividend.

a) Name the source of finance

mentioned above.

b) State any three merits.

Explain any four incentives
given by the Government of
India for boosting up small

business in India.
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17. Why are preference shares so

called? (4)

4. In this type of retail business, a
number of shops with similar
appearance are established in
localities spread over different
parts of the country.

a) Identify the type of retail
shop.

y State any four advantages. (5)

190 Commercial banks have ATM
counters through out India. But
filling currencies in majority of
machines 1s performed by
outside agencies on behalf of

banks for a commission.

a) Name the business concept

involved here.

(1 \9){ " Describe any four benefits‘by

A4

doing so. (a

\?;O./.This, is the most important
document for the registration of
a company. It is the constitution
otj the company. It defines the

objectives of the company.
a) Name the document.

b) Explain any five contents. (6)
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\2/1/ It 1s a form of risk management
primarily used to safe guard
against the risk of financial
losses. It helps to minimize

risks.

&) Name the concept.

b Describe its any four
principles.

OR

Due to the advancement of
technology, we are able to
conduct banking transactions
through electronic devices with

the help of internet.

a) Identify the modern banking
facility used here.

ly/ State the merits.

%%\/Ir. Ahamad runs a provision

store. He himself owns and

manages the business.

a) Name the form of business

organization.

3

h_b) Explain any four merits and

three demerits.

OR
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OR

It is an artificial person having
separate legal entity, perpetual
succession and common seal. It
is governed by the Companies

Act.

3}’ Name the form of a business

organization.

l}) Explain any four merits and

three demerits.
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